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다음 밑줄 친 내용과 같은 것은 ? [1-6 :] 

1. At the close of the party there were few who weren't drunk. 

① opening ② approach

③ stop ④ end

2. The phone is out of order. 

① crossed ② high priced

③ very busy ④not work properly

3. The huge forest fire was put out by the heavy rain.

① slackened ② extinguished

③ continued ④ caused

4. The experts say that the business prospect for the next year

 is bright. 

① investment ② investigation

③outlook ④ prosperity

5. I can't figure out what he means by that. 

① criticize ② forgive

③ understand ④ tolerate

6. You have to pay for this radio in advance. 

① beforehand ② in cash

③ on credit ④ later

문법에 맞도록 다음 빈칸을 채우시오[7-10]

7. He is going to come us back, _________ ? 

① won't he ② didn't he

③ doesn't he ④ isn't he

8. If it _____ tomorrow, I will stay at home. 

① rains ② is rain

③ will rain ④ will be rain

정답: 1.④ 2.④ 3.② 4.③ 5.③ 6.① 7.④ 8.①

9. There _____ many people at cocktail party. 

① is ② were

③ was ④ has been

10. Anyone ______ to come is welcome. 

① who want ② who wants



③ whom wants ④ whom want

11. 빈칸에 알맞은 말이 순서대로 짝지어진 것은 ? 

The ______ he earns, the ____ he spends.

① more, more ② more, much

③ good, worse ④ better, bad

 다음 빈칸에 들어갈 말은 ? [12-13]

12. The ______ month of the party is March. 

① three ② third ③ fifth ④ five

13. Jane decide _____ physics at the university. 

① to study ② study ③ studying ④ her studying

14. 다음 물음에 어색한 것은 ? 

What do you do for a living ?

① I live in  Seoul ② I'm a dentist

③ I'm a nurse ④ I teach at collage

15. 빈칸에 알맞은 것은 ? 

A: Does Mr. Kim stay at the Plaza Hotel ?

B: No. He  checked (         ) this morning.

① at ② in ③ out ④ up

16. 밑줄 친 부분을 옳게 해석한 것은 ? 

A: What time is it now ?

B: Beg your pardon ?

① 시계가 없습니다 ② 다시 한번 말씀해 주시죠

③ 천만예요 ④ 당신에게는 드릴 것이 없군요

정답: 9.② 10.② 11.① 12.② 13.① 14.① 15.③ 16.② 

17. 다음 중 철자가 틀린 것은 ? 

① sensible ② permited

③ credible ④ recognize

18. 밑줄 친 부분의 발음이 나머지 셋과 다른 것은 ? 

① stomach ② chorus

③ children ④ monarch

19. 다음 빈칸에 들어갈 알맞은 말은 ? [19-20] 

 Plants must be fitted for the places and climates in which 

 they live. In dry dust regions they must be able to exist 

 for long periods ________.

① in the rain ② without water



③ in rain weather ④ without fertilizer

20. With the development of modern methods of transportation 

and communications, rural areas have become less ___________. 

① developed ② necessary

③ isolated ④ interesting

정답 : 17.② 18.③ 19.② 20.③

<정답>
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